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Exam Instructions

1. This mock test is based on the latest AISSEE Class 6 exam pattern.
2. The paper consists of 125 questions for a total of 300 marks.
    - Mathematics: 50 Questions – 150 Marks
    - Intelligence: 25 Questions – 50 Marks
    - Language: 25 Questions – 50 Marks
    - General Knowledge: 25 Questions – 50 Marks
3. Time Duration: 2 Hours 30 Minutes (150 minutes)
4. Negative marking: There is no negative marking.

 

Note: This test is brought to you by Studybox Doon – India’s Trusted Online Institute for Sainik School, RMS & RIMC Preparation.

To join our full course with live classes, weekly tests, and expert mentorship – contact us at:
� +91-91511 70611 | � www.studyboxdoon.com

if  find the value of 

A. 100 B. 95

C. 89 D. 75

Please mark (✓) for the correct answer.

If by selling a bed sheet for Rs. 750 man losses 4% for what amount should he sell it, so as to gain 20%

A. 900 B. 800

C. 846 D. 864

Please mark (✓) for the correct answer.

Question: 1 of 125 Marks: 3QID: 1936

Question: 2 of 125 Marks: 3QID: 1937
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If two angles of a triangle are 50° and 50°. Find the third angle of the triangle?

A. 90° B. 45°

C. 80° D. 60°

Please mark (✓) for the correct answer.

The side of a square is 25m. nd the diagonal of the square.

A. B. 625

C. D. none of these

Please mark (✓) for the correct answer.

Siddanth bought a bicycle for Rs4000 and sold it for Rs 3800. What was his loss or gain percent?

A. 10% profit B. 10% loss

C. 5% profit D. 5% loss

Please mark (✓) for the correct answer.

Find the difference between the no. 36490 and the no. obtained by interchanging the places of 3 and
4?

A. 9900 B. 3030

C. 7020 D. 9720

Please mark (✓) for the correct answer.

A person purchased on old bicycle for Rs 500 and spends Rs 40 on its maintenance. If he sold the old
bicycle for Rs 600, then his profit % .

A. 15% B. 18%

C. D. 25%

Please mark (✓) for the correct answer.

Question: 3 of 125 Marks: 3QID: 1938

Question: 4 of 125 Marks: 3QID: 1939

Question: 5 of 125 Marks: 3QID: 1940

Question: 6 of 125 Marks: 3QID: 1941

Question: 7 of 125 Marks: 3QID: 1942
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What are the smallest and the greatest digits that can occupy the blank space in the number 8_31245 so as
to make the number divisible by 3?

A. 1 and 4 B. 1 and 7

C. 3 and 5 D. 0 and 6

Please mark (✓) for the correct answer.

If the length of a paddy eld is 100m and breadth is 80 cm. Then the ratio of its breadth to its perimeter is

A. 5 : 4 B. 4 : 5

C. 2 : 9 D. None of these

Please mark (✓) for the correct answer.

The value of –x + [x + {–x –(x + x)}] is

A. –x B. –2x

C. –3x D. None of these

Please mark (✓) for the correct answer.

A survey of 1000 registered voters revealed that 450 people would vote for candidate A in an upcoming
election. If 220,000 people vote in the election, how many votes would the survey takers predict candidate A
should receive?

A. 44,500 B. 99,000

C. 95,000 D. None of these

Please mark (✓) for the correct answer.

If 50% of a number is 20, what is 75% of the number?

A. 8 B. 15

C. 30 D. none

Please mark (✓) for the correct answer.

Question: 8 of 125 Marks: 3QID: 1833

Question: 9 of 125 Marks: 3QID: 1834

Question: 10 of 125 Marks: 3QID: 1835

Question: 11 of 125 Marks: 3QID: 1836

Question: 12 of 125 Marks: 3QID: 1837
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The present age of Kailash‘s father is four times of Kailash‘s age. Five years back, Kailash‘s father was seven
times as old as Kailash was at that time. What is the present age of Kailash‘s father?

A. 84yr B. 70yr

C. 40yr D. 35yr

Please mark (✓) for the correct answer.

A frog is fallen into a ditch which is 8 meter deep. Each day the frog climbs 4 meter and than falls back by 3
meter. The frog will reach the top after ______ days.

A. 4 B. 5

C. 6 D. none

Please mark (✓) for the correct answer.

An equation with single variable, where lowest power is one, is called a linear equation?

A. YES B. NO

C. CAN’T SAY D. TWO OF THE ABOVE

Please mark (✓) for the correct answer.

If 8x = 5y = 17, then 160xy =

A. 1158 B. 1159

C. 1154 D. 1156

Please mark (✓) for the correct answer.

5 years ago, the average age of J, K, L & M was 45 years with N joining them now, the average age of all the
five is 49 years. How old is N?

A. 40 yrs B. 45 yrs

C. 50 yrs D. 55 yrs

Please mark (✓) for the correct answer.

Question: 13 of 125 Marks: 3QID: 1838

Question: 14 of 125 Marks: 3QID: 1839

Question: 15 of 125 Marks: 3QID: 1840

Question: 16 of 125 Marks: 3QID: 1841

Question: 17 of 125 Marks: 3QID: 1842
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The age of man is 4 times that of his son. 5 years ago, the man was nine times as old as his son was at that
time. What is the present age of that man?

A. 28 yrs B. 32 yrs

C. 34 yrs D. 36 yrs

Please mark (✓) for the correct answer.

Which of the following fractions is greater than ⅗ and less than 6/7 ?

A. ⅞ B. ⅓

C. ⅔ D. ½

Please mark (✓) for the correct answer.

0.004 × 0.5 = ?

A. None B. 0.02

C. 0.002 D. 0.0002

Please mark (✓) for the correct answer.

24.39 + 562.093 + 35.96 = ?

A. 622.441 B. 622.243

C. 622.233 D. 622.443

Please mark (✓) for the correct answer.

2.205 divided by 0.3 gives

A. 7.35 B. 6.25

C. 8.15 D. 6.95

Please mark (✓) for the correct answer.

Question: 18 of 125 Marks: 3QID: 1843

Question: 19 of 125 Marks: 3QID: 1844

Question: 20 of 125 Marks: 3QID: 1845

Question: 21 of 125 Marks: 3QID: 1846

Question: 22 of 125 Marks: 3QID: 1847
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A man plants his orchard with 562X trees and arranges them so that there are as many rows as there are
trees in a row. Possible value of X is :

A. 4 B. 3

C. 2 D. none

Please mark (✓) for the correct answer.

There are 48 boys in the seventh grade. There are 2 boys for every 1 girl in the seventh grade. How many
girls are in the seventh grade?

A. 24 B. 46

C. 72 D. 96

Please mark (✓) for the correct answer.

What is the number four billion, six hundred thousand, fty written in expanded form ?

A. 4,000,000,000 + 600,000 + 50 B. 4,000,000,000 + 60,000 + 50

C. 4,000,000,000 + 650,000 D. 4,000,000,000 + 6000 + 50

Please mark (✓) for the correct answer.

Place value of a digit decreases by ............ times as it moves place by place from left to right.

A. 100 B. 1/10

C. 1/50 D. none

Please mark (✓) for the correct answer.

Find the cost of carpeting at the rate of 60 per square meter if the length and width of a hall are 50 m and
60 m respectively.

A. 180000 B. 157950

C. 155940 D. None of these

Please mark (✓) for the correct answer.

Question: 23 of 125 Marks: 3QID: 1848

Question: 24 of 125 Marks: 3QID: 1849

Question: 25 of 125 Marks: 3QID: 1850

Question: 26 of 125 Marks: 3QID: 1851

Question: 27 of 125 Marks: 3QID: 1852
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What do you mean by co-primes?

A. If there is no common divisor other than 1 between two
numbers

B. If there is no common divisor between two prime numbers

C. If there are two common divisors between two prime
numbers

D. If there are three common divisors between two prime
numbers

Please mark (✓) for the correct answer.

Find the value of 5 (x-y) + 4(x+y) if x = 2 and y = 3.

A. 11 B. 10

C. 15 D. none

Please mark (✓) for the correct answer.

Which one of the following statement does not represent a property of addition of whole numbers?

A. 58 + 33 = 33 + 58 B. 15 + 7 is a whole number

C. 599 + 0 = 5990 D. 5 + (4 + 3) = (5 + 4) + 3

Please mark (✓) for the correct answer.

Product of two numbers is 56 and their HCF is 4. Find their LCM.

A. 12 B. 14

C. 11 D. 10

Please mark (✓) for the correct answer.

The 1st, third and fourth term of a proportion are 40, 60 and 45 respectively, then the second term is?

A. 20 B. 30

C. 40 D. 50

Please mark (✓) for the correct answer.

Question: 28 of 125 Marks: 3QID: 1853

Question: 29 of 125 Marks: 3QID: 1854

Question: 30 of 125 Marks: 3QID: 1855

Question: 31 of 125 Marks: 3QID: 1856

Question: 32 of 125 Marks: 3QID: 1857
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The prime factorization of 98 is:

A. 2*7*7*7 B. 2*2*2*7*7

C. 2*2*7 D. 2*7*7

Please mark (✓) for the correct answer.

A. 653.0956 B. 653.9056

C. 65.39056 D. none of these

Please mark (✓) for the correct answer.

How many factors does in total 96 has?

A. 13 B. 10

C. 11 D. 12

Please mark (✓) for the correct answer.

Find the sum of : 14,-5,6,-7,-8,5,2,1

A. 8 B. 5

C. 0 D. 1

Please mark (✓) for the correct answer.

solve: 36−25÷5×2−6+8÷2×3

A. 33 B. 32

C. 42 D. 52

Please mark (✓) for the correct answer.

Question: 33 of 125 Marks: 3QID: 1908

Question: 34 of 125 Marks: 3QID: 1909

Question: 35 of 125 Marks: 3QID: 1910

Question: 36 of 125 Marks: 3QID: 1911

Question: 37 of 125 Marks: 3QID: 1912
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If sum of two number is 96. if one of the number is one third of the other. nd the numbers.

A. 72 B. 24

C. 36 D. 48

Please mark (✓) for the correct answer.

Solve:4−[16−{6+12÷(9−6)}]

A. -6 B. -4

C. -2 D. -1

Please mark (✓) for the correct answer.

Which of the following number is exactly divisible by 3,6 and 9.

A. 216 B. 214

C. 218 D. 220

Please mark (✓) for the correct answer.

Which of the following is a pair of co-prime number?

A. (9,19) B. (9,18)

C. (18,27) D. (27,39)

Please mark (✓) for the correct answer.

For what value of "x" the number 1235x856 is exactly divisible by 3?

A. 1 B. 0

C. 2 D. 4

Please mark (✓) for the correct answer.

Question: 38 of 125 Marks: 3QID: 1913

Question: 39 of 125 Marks: 3QID: 1914

Question: 40 of 125 Marks: 3QID: 1915

Question: 41 of 125 Marks: 3QID: 1916

Question: 42 of 125 Marks: 3QID: 1917
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Solve: 

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Find the greatest number that will divide 138, 183 and 243. leaving the same remainder 3 in each case.

A. 21 B. 23

C. 14 D. 15

Please mark (✓) for the correct answer.

What number should be added to to make it equals to 1 ?

A. B. 

C. D. 

Please mark (✓) for the correct answer.

solve: 35-25+36-45+12-64+75-12

A. 14 B. 13

C. 12 D. 11

Please mark (✓) for the correct answer.

Question: 43 of 125 Marks: 3QID: 1918

Question: 44 of 125 Marks: 3QID: 1919

Question: 45 of 125 Marks: 3QID: 1920

Question: 46 of 125 Marks: 3QID: 1921
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Which of the following is between: 

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Di erence between two supplementary angles is 20°. Find the angles?

A. 60° , 120° B. 100° , 90°

C. 80°,100° D. 40°,60°

Please mark (✓) for the correct answer.

If two angles of a triangle are 60° and 50° respectively. Find the third angle.

A. 90° B. 80°

C. 70° D. 60°

Please mark (✓) for the correct answer.

What is the value of 2xy+8xy+(-5xy)+xy?

A. 6xy B. 10xy

C. 5xy D. 2xy

Please mark (✓) for the correct answer.

Select the most appropriate antonym of the given word.
LENIENT

A. Generous B. Helpful

C. Strict D. Defensive

Please mark (✓) for the correct answer.

Question: 47 of 125 Marks: 3QID: 1922

Question: 48 of 125 Marks: 3QID: 1933

Question: 49 of 125 Marks: 3QID: 1934

Question: 50 of 125 Marks: 3QID: 1935

Question: 51 of 125 Marks: 2QID: 1876
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Identify the segment in the sentence which contains the grammatical error from the given options.
The road was blocked since it was in repair.

A. since it was B. in repair

C. was blocked D. The road

Please mark (✓) for the correct answer.

Select the most appropriate synonym of the given word.
FOYER

A. Kitchen B. Verandah

C. Bedroom D. Lobby

Please mark (✓) for the correct answer.

Select the word which means the same as the group of words given.
A short speech at the end of a play

A. Eulogy B. Prologue

C. Epilogue D. Chorus

Please mark (✓) for the correct answer.

Select the correctly spelt word.

A. Embarrasment B. Embarrassmment

C. Embarrassment D. Embarassment

Please mark (✓) for the correct answer.

Question: 52 of 125 Marks: 2QID: 1858

Question: 53 of 125 Marks: 2QID: 1859

Question: 54 of 125 Marks: 2QID: 1860

Question: 55 of 125 Marks: 2QID: 1861
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Instruction:  In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives
given.
Passage:

​ There is some truth in the common saying that while dogs become attached to persons, cats are generally
(1)............to places. A dog will follow his master anywhere, but a cat keeps to the (2)............ it is used to; and even
(3)............
the house changes hand, the cat will remain there, so long as it is treated (4)............ by the new owners. A cat
does not seem to be capable of (5)........... often shown by a dog.It thinks most of its own comfort.

Fill in blank (1) with the most appropriate option.

A. fond B. fond

C. attached D. held

Please mark (✓) for the correct answer.

Passage:
There is some truth in the common saying that while dogs become attached to
persons, cats are generally (1)............to places. A dog will follow his master anywhere, but a cat keeps to the
(2)............ it is used to; and even (3)............the house changes hand, the cat will remain there, so long as it is
treated (4)............ by the new owners. A cat does not seem to be capable of (5)........... often shown by a dog.It
thinks most of its own comfort.

Fill in blank (2) with the most appropriate option.

A. owner B. lady

C. master D. house

Please mark (✓) for the correct answer.

.Passage:
There is some truth in the common saying that while dogs become attached to
persons, cats are generally (1)............to places. A dog will follow his master anywhere, but a cat keeps to the
(2)............ it is used to; and even (3)............the house changes hand, the cat will remain there, so long as it is
treated (4)............ by the new owners. A cat does not seem to be capable of (5)........... often shown by a dog.It
thinks most of its own comfort.

Fill in blank (3) with the most appropriate option.

A. when B. whenever

C. then D. where

Please mark (✓) for the correct answer.

Question: 56 of 125 Marks: 2QID: 1862

Question: 57 of 125 Marks: 2QID: 1863

Question: 58 of 125 Marks: 2QID: 1864
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Passage:
There is some truth in the common saying that while dogs become attached to
persons, cats are generally (1)............to places. A dog will follow his master anywhere, but a cat keeps to the
(2)............ it is used to; and even (3)............the house changes hand, the cat will remain there, so long as it is
treated (4)............ by the new owners. A cat does not seem to be capable of (5)........... often shown by a dog.It
thinks most of its own comfort.

Fill in blank (4) with the most appropriate option.

A. badly B. kindly

C. softly D. harshly

Please mark (✓) for the correct answer.

Passage:
There is some truth in the common saying that while dogs become attached to
persons, cats are generally (1)............to places. A dog will follow his master anywhere, but a cat keeps to the
(2)............ it is used to; and even (3)............the house changes hand, the cat will remain there, so long as it is
treated (4)............ by the new owners. A cat does not seem to be capable of (5)........... often shown by a dog.It
thinks most of its own comfort.

Fill in blank (5) with the most appropriate option.

A. loyalty B. keenness

C. kindness D. hatred

Please mark (✓) for the correct answer.

For the following questions answer them individually
Identify the segmentin the sentence which contains the grammatical error from the given options.

They visited the Qutub Minar, which is most attractive spot in Delhi.

A. attractive spot B. which is most

C. They visited D. in Delhi

Please mark (✓) for the correct answer.

Select the most appropriate word to ll in the blank.
The ............. of the museum showed us some ancient coins.

A. controller B. conservator

C. collector D. curator

Please mark (✓) for the correct answer.

Question: 59 of 125 Marks: 2QID: 1865

Question: 60 of 125 Marks: 2QID: 1866

Question: 61 of 125 Marks: 2QID: 1867

Question: 62 of 125 Marks: 2QID: 1868
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Select the correctly spelt word.

A. Hiearchy B. Hierarky

C. Hierarchy D. Hirarchy

Please mark (✓) for the correct answer.

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select
No improvement.
The movie Uri tells the story of a surgical strike by the Indian army towards militants in POK.

A. for militants in POK B. No improvement

C. against militants in POK D. over militants at POK

Please mark (✓) for the correct answer.

Fill in the blanks with the most appropriate words.
................ taught you such lessons as these?

A. What B. Which

C. Whom D. Who

Please mark (✓) for the correct answer.

Select the most appropriate word to ll in the blank.
They showed her the greatest ............

A. spraise B. tribute

C. honour D. respect

Please mark (✓) for the correct answer.

Select the most appropriate meaning of the given idiom.
Cutting corners

A. Spending too much money B. Saving money

C. Making money D. Lending money

Please mark (✓) for the correct answer.

Question: 63 of 125 Marks: 2QID: 1869

Question: 64 of 125 Marks: 2QID: 1870

Question: 65 of 125 Marks: 2QID: 1871

Question: 66 of 125 Marks: 2QID: 1872

Question: 67 of 125 Marks: 2QID: 1873
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Select the most appropriate option to substitute the underlined segment in the given sentence. If there
is no need to substitute it, select No improvement.
The questions are so simple that a child can understand it.

A. can understand them B. No improvement.

C. is understanding them D. can understand this

Please mark (✓) for the correct answer.

Select the most appropriate synonym of the given word.
FRUITFUL

A. Useless B. Productive

C. Barren D. Juicy

Please mark (✓) for the correct answer.

Identify the segment in the sentence which contains the grammatical error from the given options.
She complained about her weak eyes and lamented about the necessity from spectacles.

A. lamented about B. from spectacles

C. She complained D. her weak eyes

Please mark (✓) for the correct answer.

Select the most appropriate meaning of the given idiom.
A blessing in disguise

A. A hidden misfortune B. An apparent fortune

C. An apparent blessing D. A hidden favour

Please mark (✓) for the correct answer.

Select the most appropriate antonym of the given word.
CONVEX

A. Opaque B. Dense

C. Concave D. Transparent

Please mark (✓) for the correct answer.

Question: 68 of 125 Marks: 2QID: 1874

Question: 69 of 125 Marks: 2QID: 1875

Question: 70 of 125 Marks: 2QID: 1877

Question: 71 of 125 Marks: 2QID: 1878

Question: 72 of 125 Marks: 2QID: 1879
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Select the word which means the same as the group of words given.
A song written in the praise of God

A. Hymn B. Elegy

C. Ode D. Epic

Please mark (✓) for the correct answer.

Fill in the blanks with the most appropriate words.
Shakespeare ........... this play

A. write B. is writing

C. has been writing D. wrote

Please mark (✓) for the correct answer.

Select the most appropriate option to substitute the underlined segment in the given sentence. If there
is no need to substitute it, select No improvement.
The furniture in this room are old and need to be replaced.

A. No improvement. B. is old and needs

C. is old and need D. are old and needin

Please mark (✓) for the correct answer.

‘Khongjom War’ is associated with which of the following states?

A. Manipur B. Mizoram

C. Assam D. Nagaland

Please mark (✓) for the correct answer.

Odisha's World Famous Konark Sun Temple was built by _______.

A. Krushadevray B. Ashoka

C. Chandragupta D. Narasimhadeva I

Please mark (✓) for the correct answer.

Question: 73 of 125 Marks: 2QID: 1880

Question: 74 of 125 Marks: 2QID: 1881

Question: 75 of 125 Marks: 2QID: 1882

Question: 76 of 125 Marks: 2QID: 1883

Question: 77 of 125 Marks: 2QID: 1884
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The Ibadat Khana was a meeting house built by which Mughal Emperor?

A. Babur B. ​Humayun 

C. Akbar D. Aurangzeb

Please mark (✓) for the correct answer.

Who was first viceroy of pre-independence era British India?

A. Warren Hastings B. Lord William Bentinck

C. Lord Mountbatten D. Lord Canning

Please mark (✓) for the correct answer.

The largest herbarium of India is located at ________.

A. Kolkata B. Lucknow

C. Mumbai D. Coimbatore

Please mark (✓) for the correct answer.

Which Indian city is known as Silicon Valley of India?

A. Ahmedabad B. Jaipur

C. Bangalore D. Srinagar

Please mark (✓) for the correct answer.

Rainfall caused by intense evaporation in equatorial areas is called _____________.

A. Orographic rainfall B. Cyclonic rainfall

C. Frontal rainfall D. Convectional rainfall

Please mark (✓) for the correct answer.

Question: 78 of 125 Marks: 2QID: 1885

Question: 79 of 125 Marks: 2QID: 1886

Question: 80 of 125 Marks: 2QID: 1887

Question: 81 of 125 Marks: 2QID: 1888

Question: 82 of 125 Marks: 2QID: 1889
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Which one of the following planets has the largest number of natural satellites or moons?

A. Jupiter B. Mars

C. Saturn D. Venus

Please mark (✓) for the correct answer.

which is the second longest river in Africa?

A. The Nile B. The Congo

C. The Zambezi D. The Yukon

Please mark (✓) for the correct answer.

Which is the longest river of Asia?

A. The Indus B. The Ganges

C. The Yangtze or Chang Jiang D. All of these

Please mark (✓) for the correct answer.

Which among the following is not a State Capital ?

A. Shimla B. Nainital

C. Hyderabad D. Bhuvaneshwar

Please mark (✓) for the correct answer.

Ghana Bird Sanctuary is located in which state?

A. Assam B. Andhra Pradesh

C. Rajasthan D. None of these

Please mark (✓) for the correct answer.

Question: 83 of 125 Marks: 2QID: 1890

Question: 84 of 125 Marks: 2QID: 1891

Question: 85 of 125 Marks: 2QID: 1892

Question: 86 of 125 Marks: 2QID: 1893

Question: 87 of 125 Marks: 2QID: 1894
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The famous hill station Ooty is situated in which state?

A. Uttarakhand B. Tamil Nadu

C. Kerala D. West Bengal

Please mark (✓) for the correct answer.

National Defence Academy is located in which state?

A. Uttrarakhand B. Uttar Pradesh

C. Tamil Nadu D. Maharashtra

Please mark (✓) for the correct answer.

New name of Persia is ______

A. Iran B. Iraq

C. Jordan D. Afghanistan

Please mark (✓) for the correct answer.

Capital of Cuba is ________

A. Harare B. Helsinki

C. Havana D. Warsaw

Please mark (✓) for the correct answer.

What is the common name for sodium bi-carbonate?

A. Caustic soda B. Washing soda

C. Common salt D. None of these

Please mark (✓) for the correct answer.

Question: 88 of 125 Marks: 2QID: 1895

Question: 89 of 125 Marks: 2QID: 1896

Question: 90 of 125 Marks: 2QID: 1897

Question: 91 of 125 Marks: 2QID: 1898

Question: 92 of 125 Marks: 2QID: 1899
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Which planet is called both the Morning and Evening Star ?

A. Jupiter B. Mercury

C. Saturn D. Venus

Please mark (✓) for the correct answer.

Baghdad, Capital of Iraq is situated on the banks of which river?

A. Volga B. Seine

C. Tigris D. Nile

Please mark (✓) for the correct answer.

Who is the poet who wrote the famous song ‘Ae Mere Watan Ke Logon’?

A. Ram Dhari Singh Dinkar B. Pradeep

C. Rabindra Nath Tagore D. Harvansh Rai Bachchan

Please mark (✓) for the correct answer.

Who founded the Red Cross ?

A. Mother Teresa B. J.H. Dunant

C. Helen Keller D. Nelson Mandela

Please mark (✓) for the correct answer.

Pt. Shiv Kumar Sharma is a famous player of which musical instrument?

A. Sitar B. Violin

C. Flute D. Santoor

Please mark (✓) for the correct answer.

Question: 93 of 125 Marks: 2QID: 1900

Question: 94 of 125 Marks: 2QID: 1901

Question: 95 of 125 Marks: 2QID: 1902

Question: 96 of 125 Marks: 2QID: 1903

Question: 97 of 125 Marks: 2QID: 1904
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Which river is called ‘Dakshin Ganga’ ?

A. Kaveri B. Krishna

C. Godavari D. Narmada

Please mark (✓) for the correct answer.

Who wrote ‘Discovery of India’ ?

A. Mahatma Gandhi B. Rabindra Nath Tagore

C. Khuswant Singh D. None of the above

Please mark (✓) for the correct answer.

Margaret Thatcher was the Prime Minister of which country?

A. England B. Sri Lanka

C. Argentina D. None of these

Please mark (✓) for the correct answer.

Select the correct alternative from the given choices.
Q.1) If  then what would be the answer of the
equation?
16×3+5−2÷4=?

A. 9 B. 10

C. 19 D. none of these

Please mark (✓) for the correct answer.

Question: 98 of 125 Marks: 2QID: 1905

Question: 99 of 125 Marks: 2QID: 1906

Question: 100 of 125 Marks: 2QID: 1907

Question: 101 of 125 Marks: 2QID: 1923
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Select the correct alternative from the given choices.
If    then what would be the answer of the
equation?
12+6÷3−2×8=?

A. -2 B. 2

C. 4 D. 8

Please mark (✓) for the correct answer.

Instruction: Select the correct alternative from the given choices.
Choose the word which is least like the other words in the group.

A. STUDENT B. LAWYER

C. MECHANIC D. ENGINEER

Please mark (✓) for the correct answer.

Choose the word which can be formed from the given word:
INFRASTRUCTURE

A. RUPTURE B. SCULPTURE

C. FRACTURE D. VULTURE

Please mark (✓) for the correct answer.

Find the missing number in the number series given below:
06, 11, 21, 36, 56, ...?

A. 42 B. 51

C. 81 D. 91

Please mark (✓) for the correct answer.

Instruction: Find the missing number which has same relation to 26 as 37 has to 19.
19 : 37 :: 26 : ?

A. 52 B. 51

C. 46 D. 43

Please mark (✓) for the correct answer.

Question: 102 of 125 Marks: 2QID: 1924

Question: 103 of 125 Marks: 2QID: 1925

Question: 104 of 125 Marks: 2QID: 1926

Question: 105 of 125 Marks: 2QID: 1927

Question: 106 of 125 Marks: 2QID: 1928
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Instruction: Find the missing word which has same relation to Bicycle as Oar has to Boat.
Boat : Oar :: Bicycle : ?

A. Road B. Wheel

C. Seat D. Paddle

Please mark (✓) for the correct answer.

Instruction: Select the correct alternative from the given choices
 Arrange these words in alphabetical order and nd out the one which comes at second place.

A. Tennis B. Tendon

C. Tender D. Tempest

Please mark (✓) for the correct answer.

Instruction: Select the correct alternative from the given choices.
A class of boys stands in a single line. One boy is nineteenth in order from both the ends. How many boys
are there in the class?

A. 27 B. 37

C. 38 D. 39

Please mark (✓) for the correct answer.

Instruction: Select the correct alternative from the given choices.
Choose the word which is least like the other words in the group.

A. EARTH B. SUN

C. MERCURY D. JUPITER

Please mark (✓) for the correct answer.

Identify the one which is different from others.

A. 4 2̂ B. (2 2̂) 2̂

C. (2 4̂) 0̂ D. (16 2̂) 1̂/3

Please mark (✓) for the correct answer.

Question: 107 of 125 Marks: 2QID: 1929

Question: 108 of 125 Marks: 2QID: 1930

Question: 109 of 125 Marks: 2QID: 1931

Question: 110 of 125 Marks: 2QID: 1932

Question: 111 of 125 Marks: 2QID: 1943
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Identify the one which is different from others.

A. Page B. Letter

C. Binder D. Sentence

Please mark (✓) for the correct answer.

Identify the one which is different from others.

A. BLETA B. ETBATL

C. KOLCER D. AGPEN

Please mark (✓) for the correct answer.

Identify the one which is different from others.

A. Stable B. Den

C. Haven D. Cowshed

Please mark (✓) for the correct answer.

Identify the one which is different from others.

A. Toronto B. Colombo

C. Jakarta D. Pyongyang

Please mark (✓) for the correct answer.

Instruction: Select the related letters/ word / numbers from the given alternatives.
Weather : Meteorology : : Stars : ?

A. Astrology B. Astronomy

C. Astro – Physics D. Particle Physics

Please mark (✓) for the correct answer.

Question: 112 of 125 Marks: 2QID: 1944

Question: 113 of 125 Marks: 2QID: 1945

Question: 114 of 125 Marks: 2QID: 1946

Question: 115 of 125 Marks: 2QID: 1947

Question: 116 of 125 Marks: 2QID: 1948
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7 : 52 : : ? : 84

A. 55 B. 68

C. 9 D. 59

Please mark (✓) for the correct answer.

10 : 120 :: 20 : ?

A. 460 B. 440

C. 450 D. 420

Please mark (✓) for the correct answer.

Cat : Kitten : : Donkey :?

A. Pup B. Colt

C. Foal D. Calf

Please mark (✓) for the correct answer.

54 : 9 : : ? : 2

A. 8 B. 7

C. 11 D. 13

Please mark (✓) for the correct answer.

5, 10, 17, 26, 37, ?

A. 50 B. 48

C. 46 D. 51

Please mark (✓) for the correct answer.

Question: 117 of 125 Marks: 2QID: 1949

Question: 118 of 125 Marks: 2QID: 1950

Question: 119 of 125 Marks: 2QID: 1951

Question: 120 of 125 Marks: 2QID: 1952

Question: 121 of 125 Marks: 2QID: 1953
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AZ, CX, EV, ?

A. HT B. HU

C. GS D. GT

Please mark (✓) for the correct answer.

C2Y, G4U, K8Q, O16M, ?

A. R32K B. S32H

C. S32I D. R32I

Please mark (✓) for the correct answer.

Instruction: In the following questions a word is given followed by four other words in the alternative. Only
one word as given in alternatives can be formed from the letter used in the word given in the question.
Find out the word amongst the alternatives.
NOSTALGIA

A. NOSE B. TALE

C. LOST D. GATE

Please mark (✓) for the correct answer.

If ROHINI is coded as INHIOR then AGNI could be written as :

A. IGNA B. INGA

C. NIAG D. NIGA

Please mark (✓) for the correct answer.

 

Question: 122 of 125 Marks: 2QID: 1954

Question: 123 of 125 Marks: 2QID: 1955

Question: 124 of 125 Marks: 2QID: 1956

Question: 125 of 125 Marks: 2QID: 1957

--- END OF QUESTION PAPER ---
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No Question Type QID Correct Answer
Question - 1 Multiple Choice (Radiobutton) 1936 B

Question - 2 Multiple Choice (Radiobutton) 1937 D

Question - 3 Multiple Choice (Radiobutton) 1938 C

Question - 4 Multiple Choice (Radiobutton) 1939 A

Question - 5 Multiple Choice (Radiobutton) 1940 D

Question - 6 Multiple Choice (Radiobutton) 1941 A

Question - 7 Multiple Choice (Radiobutton) 1942 C

Question - 8 Multiple Choice (Radiobutton) 1833 A

Question - 9 Multiple Choice (Radiobutton) 1834 C

Question - 10 Multiple Choice (Radiobutton) 1835 C

Question - 11 Multiple Choice (Radiobutton) 1836 B

Question - 12 Multiple Choice (Radiobutton) 1837 C

Question - 13 Multiple Choice (Radiobutton) 1838 C

Question - 14 Multiple Choice (Radiobutton) 1839 A

Question - 15 Multiple Choice (Radiobutton) 1840 A

Question - 16 Multiple Choice (Radiobutton) 1841 D

Question - 17 Multiple Choice (Radiobutton) 1842 B

Question - 18 Multiple Choice (Radiobutton) 1843 B

Question - 19 Multiple Choice (Radiobutton) 1844 C

Question - 20 Multiple Choice (Radiobutton) 1845 C

Question - 21 Multiple Choice (Radiobutton) 1846 D

Question - 22 Multiple Choice (Radiobutton) 1847 A

Question - 23 Multiple Choice (Radiobutton) 1848 D

Question - 24 Multiple Choice (Radiobutton) 1849 A

Question - 25 Multiple Choice (Radiobutton) 1850 A

Question - 26 Multiple Choice (Radiobutton) 1851 B

Question - 27 Multiple Choice (Radiobutton) 1852 A

Question - 28 Multiple Choice (Radiobutton) 1853 A

Question - 29 Multiple Choice (Radiobutton) 1854 C

Question - 30 Multiple Choice (Radiobutton) 1855 C

Question - 31 Multiple Choice (Radiobutton) 1856 B

Question - 32 Multiple Choice (Radiobutton) 1857 B

Question - 33 Multiple Choice (Radiobutton) 1908 D

Question - 34 Multiple Choice (Radiobutton) 1909 B

Question - 35 Multiple Choice (Radiobutton) 1910 D

Question - 36 Multiple Choice (Radiobutton) 1911 A

Question - 37 Multiple Choice (Radiobutton) 1912 B

Question - 38 Multiple Choice (Radiobutton) 1913 A

Question - 39 Multiple Choice (Radiobutton) 1914 C

Question - 40 Multiple Choice (Radiobutton) 1915 A

Question - 41 Multiple Choice (Radiobutton) 1916 A

Question - 42 Multiple Choice (Radiobutton) 1917 B
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Question - 43 Multiple Choice (Radiobutton) 1918 C

Question - 44 Multiple Choice (Radiobutton) 1919 D

Question - 45 Multiple Choice (Radiobutton) 1920 A

Question - 46 Multiple Choice (Radiobutton) 1921 C

Question - 47 Multiple Choice (Radiobutton) 1922 D

Question - 48 Multiple Choice (Radiobutton) 1933 C

Question - 49 Multiple Choice (Radiobutton) 1934 C

Question - 50 Multiple Choice (Radiobutton) 1935 A

Question - 51 Multiple Choice (Radiobutton) 1876 C

Question - 52 Multiple Choice (Radiobutton) 1858 A

Question - 53 Multiple Choice (Radiobutton) 1859 D

Question - 54 Multiple Choice (Radiobutton) 1860 C

Question - 55 Multiple Choice (Radiobutton) 1861 C

Question - 56 Multiple Choice (Radiobutton) 1862 C

Question - 57 Multiple Choice (Radiobutton) 1863 D

Question - 58 Multiple Choice (Radiobutton) 1864 A

Question - 59 Multiple Choice (Radiobutton) 1865 B

Question - 60 Multiple Choice (Radiobutton) 1866 A

Question - 61 Multiple Choice (Radiobutton) 1867 B

Question - 62 Multiple Choice (Radiobutton) 1868 D

Question - 63 Multiple Choice (Radiobutton) 1869 C

Question - 64 Multiple Choice (Radiobutton) 1870 C

Question - 65 Multiple Choice (Radiobutton) 1871 D

Question - 66 Multiple Choice (Radiobutton) 1872 D

Question - 67 Multiple Choice (Radiobutton) 1873 B

Question - 68 Multiple Choice (Radiobutton) 1874 A

Question - 69 Multiple Choice (Radiobutton) 1875 B

Question - 70 Multiple Choice (Radiobutton) 1877 B

Question - 71 Multiple Choice (Radiobutton) 1878 D

Question - 72 Multiple Choice (Radiobutton) 1879 C

Question - 73 Multiple Choice (Radiobutton) 1880 A

Question - 74 Multiple Choice (Radiobutton) 1881 D

Question - 75 Multiple Choice (Radiobutton) 1882 B

Question - 76 Multiple Choice (Radiobutton) 1883 A

Question - 77 Multiple Choice (Radiobutton) 1884 D

Question - 78 Multiple Choice (Radiobutton) 1885 C

Question - 79 Multiple Choice (Radiobutton) 1886 D

Question - 80 Multiple Choice (Radiobutton) 1887 A

Question - 81 Multiple Choice (Radiobutton) 1888 C

Question - 82 Multiple Choice (Radiobutton) 1889 D

Question - 83 Multiple Choice (Radiobutton) 1890 C

Question - 84 Multiple Choice (Radiobutton) 1891 B

Question - 85 Multiple Choice (Radiobutton) 1892 C

Question - 86 Multiple Choice (Radiobutton) 1893 B

Question - 87 Multiple Choice (Radiobutton) 1894 C

Question - 88 Multiple Choice (Radiobutton) 1895 B

No Question Type QID Correct Answer
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Question - 89 Multiple Choice (Radiobutton) 1896 D

Question - 90 Multiple Choice (Radiobutton) 1897 A

Question - 91 Multiple Choice (Radiobutton) 1898 C

Question - 92 Multiple Choice (Radiobutton) 1899 D

Question - 93 Multiple Choice (Radiobutton) 1900 D

Question - 94 Multiple Choice (Radiobutton) 1901 C

Question - 95 Multiple Choice (Radiobutton) 1902 B

Question - 96 Multiple Choice (Radiobutton) 1903 B

Question - 97 Multiple Choice (Radiobutton) 1904 D

Question - 98 Multiple Choice (Radiobutton) 1905 C

Question - 99 Multiple Choice (Radiobutton) 1906 D

Question - 100 Multiple Choice (Radiobutton) 1907 A

Question - 101 Multiple Choice (Radiobutton) 1923 A

Question - 102 Multiple Choice (Radiobutton) 1924 C

Question - 103 Multiple Choice (Radiobutton) 1925 A

Question - 104 Multiple Choice (Radiobutton) 1926 C

Question - 105 Multiple Choice (Radiobutton) 1927 C

Question - 106 Multiple Choice (Radiobutton) 1928 B

Question - 107 Multiple Choice (Radiobutton) 1929 D

Question - 108 Multiple Choice (Radiobutton) 1930 C

Question - 109 Multiple Choice (Radiobutton) 1931 B

Question - 110 Multiple Choice (Radiobutton) 1932 B

Question - 111 Multiple Choice (Radiobutton) 1943 C

Question - 112 Multiple Choice (Radiobutton) 1944 C

Question - 113 Multiple Choice (Radiobutton) 1945 D

Question - 114 Multiple Choice (Radiobutton) 1946 C

Question - 115 Multiple Choice (Radiobutton) 1947 A

Question - 116 Multiple Choice (Radiobutton) 1948 B

Question - 117 Multiple Choice (Radiobutton) 1949 C

Question - 118 Multiple Choice (Radiobutton) 1950 B

Question - 119 Multiple Choice (Radiobutton) 1951 B

Question - 120 Multiple Choice (Radiobutton) 1952 C

Question - 121 Multiple Choice (Radiobutton) 1953 A

Question - 122 Multiple Choice (Radiobutton) 1954 D

Question - 123 Multiple Choice (Radiobutton) 1955 C

Question - 124 Multiple Choice (Radiobutton) 1956 C

Question - 125 Multiple Choice (Radiobutton) 1957 A

No Question Type QID Correct Answer

--- END OF ANSWER KEY ---
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